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Q2-20 pts) For the given binary tree:
nodes of the tree.

the work.
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(a) Find the depth of all the leaf nodes and the height of all the internal
(b) Determine whether the binary tree is height-balanced or not. Show all

(c) If the nodes are to be rearranged so that the height of the binary tree is
the minimum, what is the minimum possible height of this binary tree of
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Student Name: J#:

CSC 228 Data Structures and Algorithms, Fall 2017
' Instructor: Dr. Natarajan Meghanathan
Quiz 4 (Oct. 16, 2017) Max. Points: 30 Max. Time: 20 min.

QI1-10 pts) Consider an array A = {45, 12, 34, 89, 76, 65, 54, 32, 88} and hash function H(v) =v mod 7.
(a) Construct the hash table and show it.

(b) Determine the average number of comparisons for a successful search
(c) What is the maximum number of comparisons for an unsuccessful search?

‘ -\ mod T
H'&\)) Smm#(t-uﬂ‘

® - — A ~thn
> 1 #1134 5 | b ‘ F loonp-
3y |
4 83 84 Tk 2
54 -3

A\; :‘\5( (nrapat gond %B’( (\ Cjafv\f)‘\‘(?)%’)(z Com'f)
/%MEL%M YM = (S h?) +L1 ) (3 “"“T')
T ey
= S53b6+3_ 1y _ 5%

iy -

9 ]

Mar. 4 Cﬂr«\fwﬁm ot
WLC,qu%Mﬂ Roomeds = 3

ap—
p—



